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3agava 1. CoctaBuTtb
nporpaMmy Ans HaxoXaeHus
nepumeTpa NPAMOYronibHMUKa




PROGRAM PERIMETR;

VAR a,b,P: integer;

BEGIN

Write(‘ BBeaUTe CTOPOHbDI

REFNOYFONBbHUKA’');
P:=(a+b)*2;
Writeln(‘P=’,P);

End.




APVOMETUYECKUE OINEPALIA

[leneHve c
OCTaTKOM




AOEJIEHUE HALENO

DIV



[NPUMEP

5 DIV 2=2

CamMocTosATenbHO HauauTe:
5DIV3=1
6 DIV 2=3
7 DIV 7=1




OEJIEHUNE C OCTATKOM

MOD



[NPUMEP

5 MOD 2=1

CamMocTosATenbHO HauauTe:
5 MOD 3=2
6 MOD 2=0
7 MOD 3=1




[NPUMEP

(5 MOD 2+4)*4-6 DIV 2*2=?




MPUOPUTET APUDOMETUYECKUX ONMEPALIUN

BbinonHATCA onepauun
BHYTPU CKOOOK

* DIV MOD

+ -




[NPUMEP

1 2 36 4 5
(5 MOD 2+4)*4-6 DIV 2*2=14




HAWOUTE 3HAYEHUE BbIPAXKEHUA:

2-13MOD 7/3= 0
14 DIV 3*2= 8
19 MOD 5 DIV 2= 2
12MOD 7 +2= 7
20 MOD 7 =

30 DIV 7 -3=
(445)-6 DIV 3=

N = O




3agava 2. CoctaBuTtb
nporpaMmy Ans HaxoXaeHus

CYMMbl UUMpP AOBY3HA4YHOro
yucna.




PROGRAM SUMMA;
var a,b,c,s:integer;

BEGIN
Write( BBeauTe gBy3Ha4YHoOe YUCNO:’);

Read(a);

b:=a mod 10;

c:=a div 10;

s:=b+c;

Writeln(‘cymma uudp uncna=’, s);
End.







